BID OPENING DATE: FEBRUARY 7, 2007

| Ref. | Item  |   |       |          | ENGINEE      | ER'S ESTIMATE    | Reyno      | lds Inliner    |
|------|-------|---|-------|----------|--------------|------------------|------------|----------------|
| No.  | No.   | Description   | Qty.  | Unit     | Price        | Amount           | Price      | Amount         |
| 1    | 202   | Manhole Removed                                       | 1     | EA       | \$500.00     | \$500.00         | \$1,441.00 | \$1,441.00     |
| 2    | 202   | Pipe Filled in Place                                  | 30    |          | \$10.00      | \$300.00         | \$27.00    | \$810.00       |
| 3    | 252   | Arterial Pavement Replacement, Type 1 (1441 Dr. A)    | 90    |          | \$250.00     | \$22,500.00      | \$486.00   | \$43,740.00    |
|      | 252   | Driveway Pavement Replacement, Type IIIA (2160 Dr. A) | 30    |          |              |                  |            |                |
| 4    |       | Driveway Pavement Replacement, Type IIIB (2160 Dr. A) |       |          | \$175.00     | \$5,250.00       | \$336.00   | \$10,080.00    |
| 5    | 252   | ,               | 2     |          | \$300.00     | \$600.00         | \$486.00   | \$972.00       |
| 6    | 252   | Driveway Pavement Replacement, Type IIIC (2160 Dr. A) | 2     |          | \$40.00      | \$80.00          | \$108.00   | \$216.00       |
| 7    | 253   | Temporary Pavement Replacement                        | 2,100 |          | \$20.00      | \$42,000.00      | \$22.00    | \$46,200.00    |
| 8    | 254   | Pavement Planing                                      | 200   |          | \$3.00       | \$600.00         | \$17.00    | \$3,400.00     |
| 9    | 604   | Catch Basin, AA-S133                                  | 2     |          | \$1,500.00   | \$3,000.00       | \$1,873.00 | \$3,746.00     |
| 10   | 604   | Manhole, Type A                                       | 2     |          | \$2,500.00   | \$5,000.00       | \$2,614.00 | \$5,228.00     |
| 11   | 614   | Maintaining Traffic                                   |       | Lump Sum | \$150,000.00 | \$150,000.00     | \$8,510.00 | \$8,510.00     |
| 12   | 624   | Mobilization  | 1     |          | \$20,000.00  | \$20,000.00      | \$7,000.00 | \$7,000.00     |
| 13   | 901   | Storm Sewer Pipe, C900 Water Tight Pipe               | 150   |          | \$45.00      | \$6,750.00       | \$139.00   | \$20,850.00    |
| 14   | SS-2  | Repair Water Service                                  | 2     |          | \$1,000.00   | \$2,000.00       | \$1.10     | \$2.20         |
| 15   | SS-2  | Repair Electric Service                               | 2     |          | \$1,000.00   | \$2,000.00       | \$1.10     | \$2.20         |
| 16   | SS-2  | Repair Telephone Service                              | 2     |          | \$1,000.00   | \$2,000.00       | \$1.10     | \$2.20         |
| 17   | SS-2  | Repair Gas Service                                    | 2     | EA       | \$1,000.00   | \$2,000.00       | \$1.10     | \$2.20         |
| 18   | SS-2  | Repair Sewer Service                                  | 2     | EA       | \$1,000.00   | \$2,000.00       | \$1.10     | \$2.20         |
| 19   | SS-2  | Repair Television Cable Service                       | 2     | EA       | \$1,000.00   | \$2,000.00       | \$1.10     | \$2.20         |
| 20   | SS-3  | By-pass Pumping                                       | 1     | Lump Sum | \$200,000.00 | \$200,000.00     | #########  | \$115,000.00   |
| 21   | SS-7  | Cementitious Grouting                                 | 200   | CF       | \$30.00      | \$6,000.00       | \$54.00    | \$10,800.00    |
| 22   | SS-9  | Internal Host Pipe Repair                             | 200   | SF       | \$50.00      | \$10,000.00      | \$29.00    | \$5,800.00     |
| 23   | SS-10 | Cementitious Manhole Rehabilitation                   | 540   |          | \$200.00     | \$108,000.00     | \$168.00   | \$90,720.00    |
| 24   |       | Replace Manhole Frame and Cover                       | 28    | EA       | \$2,200.00   | \$61,600.00      | \$1,602.00 | \$44,856.00    |
| 25   | SS-10 | Replace Manhole Frame and Cover w/36" Casting         | 15    |          | \$3,000.00   | \$45,000.00      | \$2,088.00 | \$31,320.00    |
| 26   |       | Manholes Reconstructed to Grade                       | 75    |          | \$100.00     | \$7,500.00       | \$1,185.00 | \$88,875.00    |
| 27   |       | Lateral Sewer Dye Tested                              | 230   |          | \$150.00     | \$34,500.00      | \$87.00    | \$20,010.00    |
| 28   |       | 36" Cured in Place (CIPP)(15 mm Median Thickness)     | 3,760 |          | \$180.00     | \$676,800.00     | \$104.00   | \$391,040.00   |
| 29   |       | 36" Cured in Place (CIPP)(16.5 mm Median Thickness)   | 2,752 |          | \$200.00     | \$550,400.00     | \$106.00   | \$291,712.00   |
| 30   |       | 36" Cured in Place (CIPP)(22.5 mm Median Thickness)   | 1,810 |          | \$380.00     | \$687,800.00     | \$128.00   | \$231,680.00   |
| 31   |       | 42" Cured in Place (CIPP)(16.5 mm Median Thickness)   | 1,611 | LF       | \$280.00     | \$451,080.00     | \$136.00   | \$219,096.00   |
| 32   |       | Lateral Sewers Re-established                         | 230   |          | \$250.00     | \$57,500.00      | \$50.00    | \$11,500.00    |
| 33   |       | Trim Protruding Laterals                              | 19    |          | \$250.00     | \$4,750.00       | \$200.00   | \$3,800.00     |
| 34   |       | Flexible Manhole Sealant Coating                      | 76    |          | \$800.00     | \$60,800.00      | \$297.00   | \$22,572.00    |
| 35   | SS-25 | Flexible Internal Mechanical Chimney Seal             | 15    | EA       | \$350.00     | \$5,250.00       | \$297.00   | \$4,455.00     |
|      |       | SUB-TOTAL   |       |          |              | \$3,235,560.00   |            | \$1,735,442.20 |
| 36   | Spec  | Force Account (.15 X Sum of Items 1 thru 25)          | 1     | Lump Sum |              | \$104,877.00     |            | \$67,605.33    |
|      |       | TOTAL PROJECT COSTS @ Items 1-25 Force Acct           |       |          |              | \$3,340,437.00   |            | \$1,803,047.53 |
|      |       |   |       |          |              |                  |            |                |
|      |       | Corrected Force Acct (.15 X Sum Items 1 thru 35)      | 1     | Lump Sum |              | \$485,334.00     |            | \$260,316.33   |
|      |       | TOTAL PROJECT COSTS @ Items 1-35 Force Acct           |       |          |              | \$3,720,894.00   |            | \$1,995,758.53 |
|      |       | % DIFFERENCE FROM ENGINEER'S ESTIMATE                 |       |          |              | N/A              |            | -46.02%        |
|      |       | Bond Amount   |       |          |              |                  |            | \$199,575.85   |
|      |       | Bonding Company                                       |       |          | Travelers Ca | asualty & Surety |            |                |
|      |       | Proposal Bond Amount Required                         |       |          | \$199,575.85 |                  |            |                |
|      |       | Contract Compliance No. (Page P-3C)                   |       |          |              |                  |            | 01-0684682     |
|      |       | Non-Collusion Affidavit Completed? (Page P-29)        |       |          |              |                  | Yes        |                |
|      |       | Local Vendor? (Page P-4)                              |       |          |              |                  |            | No             |
|      |       | Addendum Acknowledgement Completed? (Page P-4)(No     | ne)   |          |              |                  |            | N/A            |
|      |       | Proposal Affidavit Completed? (Page P-35)             |       |          |              |                  |            | Yes            |

1/5/2012 CIP650693 Bid Tab

BID OPENING DATE: FEBRUARY 7, 2007

| Ref.     | Item  |  |           |                      |                             | ER'S ESTIMATE               | Insitut                    | form (MO)                  |
|----------|---|--|-----------|----------------------|-----------------------------|-----------------------------|----------------------------|----------------------------|
| No.      | No.   | Description  | Qty.      | Unit                 | Price                       | Amount                      | Price                      | Amount                     |
| 1        | 202   | Manhole Removed  | 1         |                      | \$500.00                    | \$500.00                    | \$1,382.50                 | \$1,382.50                 |
| 2        | 202   | Pipe Filled in Place                                   | 30        |                      | \$10.00                     | \$300.00                    | \$26.00                    | \$780.00                   |
| 3        | 252   | Arterial Pavement Replacement, Type 1 (1441 Dr. A)     | 90        |                      | \$250.00                    | \$22,500.00                 | \$468.00                   | \$42,120.00                |
| 4        | 252   | Driveway Pavement Replacement, Type IIIA (2160 Dr. A)  | 30        |                      | \$175.00                    | \$5,250.00                  | \$323.50                   | \$9,705.00                 |
| 5        | 252   | Driveway Pavement Replacement, Type IIIB (2160 Dr. A)  | 2         |                      | \$300.00                    | \$600.00                    | \$468.00                   |                            |
|          | 252   | Driveway Pavement Replacement, Type IIIC (2160 Dr. A)  | 2         |                      | \$40.00                     | \$80.00                     | \$104.00                   | \$936.00<br>\$208.00       |
| 6        | 253   | Temporary Pavement Replacement                         | 2,100     |                      |                             |                             |                            |                            |
| 7        |   | Pavement Planing                                       |           | <b>+</b>             | \$20.00                     | \$42,000.00                 | \$25.10                    | \$52,710.00                |
| 8        | 254   | Catch Basin, AA-S133                                   | 200       |                      | \$3.00                      | \$600.00                    | \$15.60                    | \$3,120.00                 |
| 9        | 604   |  | 2         |                      | \$1,500.00                  | \$3,000.00                  | \$1,803.50                 | \$3,607.00                 |
| 10       | 604   | Manhole, Type A  | 2         |                      | \$2,500.00                  | \$5,000.00                  | \$2,517.00                 | \$5,034.00                 |
| 11       | 614<br>624  | Maintaining Traffic Mobilization                       | 1         | Lump Sum<br>Lump Sum | \$150,000.00<br>\$20,000.00 | \$150,000.00<br>\$20,000.00 | \$53,315.70<br>\$22,145.20 | \$53,315.70                |
| 12       | 901   | Storm Sewer Pipe, C900 Water Tight Pipe                | 150       | 1                    |                             |                             |                            | \$22,145.20                |
| 13       | SS-2  | Repair Water Service                                   | 150<br>2  |                      | \$45.00<br>\$1,000.00       | \$6,750.00<br>\$2,000.00    | \$133.10<br>\$1.00         | \$19,965.00<br>\$2.00      |
| 15       |   | Repair Electric Service                                | 2         |                      | \$1,000.00                  | \$2,000.00                  | \$1.00                     | \$2.00                     |
| 16       |   | Repair Telephone Service                               | 2         |                      | \$1,000.00                  | \$2,000.00                  | \$1.00                     | \$2.00                     |
| 17       |   | Repair Gas Service                                     | 2         |                      | \$1,000.00                  | \$2,000.00                  | \$1.00                     | \$2.00                     |
| 18       |   | Repair Sewer Service                                   | 2         | 1                    | \$1,000.00                  | \$2,000.00                  | \$1.00                     | \$2.00                     |
| 19       |   | Repair Television Cable Service                        | 2         |                      | \$1,000.00                  | \$2,000.00                  | \$1.00                     | \$2.00                     |
| 20       |   | By-pass Pumping  | 1         | Lump Sum             | \$200,000.00                | \$200,000.00                | \$139,664.70               | \$139,664.70               |
| 21       |   | Cementitious Grouting                                  | 200       | -                    | \$30.00                     | \$6,000.00                  | \$26.00                    | \$5,200.00                 |
| 22       |   | Internal Host Pipe Repair                              | 200       | 1                    | \$50.00                     | \$10,000.00                 | \$52.00                    | \$10,400.00                |
| 23       | SS-10   | Cementitious Manhole Rehabilitation                    | 540       | VF                   | \$200.00                    | \$108,000.00                | \$156.00                   | \$84,240.00                |
| 24       | SS-10   | Replace Manhole Frame and Cover                        | 28        | EA                   | \$2,200.00                  | \$61,600.00                 | \$1,352.10                 | \$37,858.80                |
| 25       | SS-10   | Replace Manhole Frame and Cover w/36" Casting          | 15        |                      | \$3,000.00                  | \$45,000.00                 | \$1,664.20                 | \$24,963.00                |
| 26       |   | Manholes Reconstructed to Grade                        | 75        |                      | \$100.00                    | \$7,500.00                  | \$1,141.00                 | \$85,575.00                |
| 27       |   | Lateral Sewer Dye Tested                               | 230       |                      | \$150.00                    | \$34,500.00                 | \$104.00                   | \$23,920.00                |
| 28       |   | 36" Cured in Place (CIPP)(15 mm Median Thickness)      | 3,760     |                      | \$180.00                    | \$676,800.00                | \$119.10                   | \$447,816.00               |
| 29       |   | 36" Cured in Place (CIPP)(16.5 mm Median Thickness)    | 2,752     | LF                   | \$200.00                    | \$550,400.00                | \$109.10                   | \$300,243.20               |
| 30       |   | 36" Cured in Place (CIPP)(22.5 mm Median Thickness)    | 1,810     |                      | \$380.00                    | \$687,800.00                | \$137.70                   | \$249,237.00               |
| 31       |   | 42" Cured in Place (CIPP)(16.5 mm Median Thickness)    | 1,611     | LF                   | \$280.00                    | \$451,080.00                | \$121.80                   | \$196,219.80               |
| 32       |   | Lateral Sewers Re-established Trim Protruding Laterals | 230<br>19 |                      | \$250.00                    | \$57,500.00                 | \$185.30                   | \$42,619.00                |
| 33<br>34 |   | Flexible Manhole Sealant Coating                       | 76        |                      | \$250.00<br>\$800.00        | \$4,750.00<br>\$60,800.00   | \$1,560.20<br>\$208.00     | \$29,643.80<br>\$15,808.00 |
| 35       |   | Flexible Internal Mechanical Chimney Seal              | 15        |                      | \$350.00                    | \$5,250.00                  | \$468.00                   | \$7,020.00                 |
| 33       | 33-23   | SUB-TOTAL  | 13        | LA                   | \$350.00                    | \$3,235,560.00              | \$400.00                   | \$1,915,468.70             |
| 36       | Spec  | Force Account (.15 X Sum of Items 1 thru 25)           | 1         | Lump Sum             |                             | \$104,877.00                |                            | \$77,605.04                |
| 50       | Opeo  | TOTAL PROJECT COSTS @ Items 1-25 Force Acct            | '         | _amp oun             |                             | \$3,340,437.00              |                            | \$1,993,073.74             |
|          |   | TOTAL TROJECT COSTS & Remis 1 25 Force Acct            |           |                      |                             | ψυ,υπυ,πυγ.υυ               |                            | Ψ1,770,070.74              |
|          |   | Corrected Force Acct (.15 X Sum Items 1 thru 35)       | 1         | Lump Sum             |                             | \$485,334.00                | +                          | \$287,320.31               |
|          |   | TOTAL PROJECT COSTS @ Items 1-35 Force Acct            | '         | Edilip Sdili         |                             | \$3,720,894.00              |                            | \$2,202,789.01             |
|          |   | % DIFFERENCE FROM ENGINEER'S ESTIMATE                  |           |                      |                             | N/A                         |                            | -40.33%                    |
|          |   | Bond Amount  |           |                      |                             | \$200,000.00                |                            |                            |
|          | Bonding Company  Proposal Bond Amount Required  Contract Compliance No. (Page P-3C)  Non-Collusion Affidavit Completed? (Page P-29)  Local Vendor? (Page P-4) |  |           |                      |                             |                             | Travelers C                | asualty & Surety           |
|          |   |  |           |                      |                             |                             |                            | \$220,278.90               |
|          |   |  |           |                      |                             |                             |                            | 13-3032158                 |
|          |   |  |           |                      |                             |                             |                            | Yes                        |
|          |   |  |           |                      |                             |                             |                            | No                         |
|          |   | Addendum Acknowledgement Completed? (Page P-4)(No      | ne)       |                      |                             |                             |                            | N/A                        |
|          | Proposal Affidavit Completed? (Page P-35)   |  |           |                      |                             |                             |                            | Yes                        |
|          | 1 Toposat Amuavit Completeus (Lage 1-55)  |  |           |                      | I                           |                             | I .                        | 1.03                       |

Computational error corrected

1/5/2012 CIP650693 Bld Tab

BID OPENING DATE: FEBRUARY 7, 2007

| Ref.     | Item       |   |       |          | ENGINE                     | ER'S ESTIMATE              | Kok                        | cosing                           |
|----------|------------|---|-------|----------|----------------------------|----------------------------|----------------------------|----------------------------------|
| No.      | No.        | Description   | Qty.  | Unit     | Price                      | Amount                     | Price                      | Amount                           |
| 1        | 202        | Manhole Removed   | 1     |          | \$500.00                   | \$500.00                   | \$400.00                   | \$400.00                         |
| 2        | 202        | Pipe Filled in Place  | 30    |          | \$10.00                    | \$300.00                   | \$35.00                    | \$1,050.00                       |
| 3        | 252        | Arterial Pavement Replacement, Type 1 (1441 Dr. A)                                | 90    | t        | \$250.00                   | \$22,500.00                | \$410.00                   | \$36,900.00                      |
| 4        | 252        | Driveway Pavement Replacement, Type IIIA (2160 Dr. A)                             | 30    |          | \$175.00                   | \$5,250.00                 | \$170.00                   | \$5,100.00                       |
| 5        | 252        | Driveway Pavement Replacement, Type IIIB (2160 Dr. A)                             | 2     |          | \$300.00                   | \$600.00                   | \$440.00                   | \$880.00                         |
| 6        | 252        | Driveway Pavement Replacement, Type IIIC (2160 Dr. A)                             | 2     |          | \$40.00                    | \$80.00                    | \$24.00                    | \$48.00                          |
| 7        | 253        | Temporary Pavement Replacement  | 2,100 |          | \$20.00                    | \$42,000.00                | \$0.01                     | \$21.00                          |
| 8        | 254        | Pavement Planing  | 200   |          | \$3.00                     | \$600.00                   | \$20.00                    | \$4,000.00                       |
| 9        | 604        | Catch Basin, AA-S133  | 200   |          |                            |                            |                            | \$3,000.00                       |
|          |            | Manhole, Type A   | 2     |          | \$1,500.00                 | \$3,000.00                 | \$1,500.00                 |                                  |
| 10<br>11 | 604<br>614 | Maintaining Traffic   | 1     |          | \$2,500.00<br>\$150,000.00 | \$5,000.00<br>\$150,000.00 | \$1,700.00<br>\$125,000.00 | \$3,400.00<br>\$125,000.00       |
| 12       | 624        | Mobilization  | 1     |          | \$20,000.00                | \$20,000.00                | \$125,000.00               | \$125,000.00                     |
| 13       | 901        | Storm Sewer Pipe, C900 Water Tight Pipe   | 150   | 1        | \$45.00                    | \$6,750.00                 | \$120.00                   | \$18,000.00                      |
| 14       |            | Repair Water Service  | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                     | \$18,000.00                      |
| 15       |            | Repair Electric Service   | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                     | \$2.00                           |
| 16       |            | Repair Telephone Service  | 2     | 1        | \$1,000.00                 | \$2,000.00                 | \$1.00                     | \$2.00                           |
| 17       |            | Repair Gas Service  | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                     | \$2.00                           |
| 18       |            | Repair Sewer Service  | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                     | \$2.00                           |
| 19       |            | Repair Television Cable Service   | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                     | \$2.00                           |
| 20       |            | By-pass Pumping   | 1     |          | \$200,000.00               | \$200,000.00               | \$135,000.00               | \$135,000.00                     |
| 21       |            | Cementitious Grouting   | 200   |          | \$30.00                    | \$6,000.00                 | \$30.00                    | \$6,000.00                       |
| 22       |            | Internal Host Pipe Repair   | 200   | 1        | \$50.00                    | \$10,000.00                | \$20.00                    | \$4,000.00                       |
| 23       |            | Cementitious Manhole Rehabilitation   | 540   |          | \$200.00                   | \$108,000.00               | \$160.00                   | \$86,400.00                      |
| 24       | SS-10      | Replace Manhole Frame and Cover   | 28    |          | \$2,200.00                 | \$61,600.00                | \$2,500.00                 | \$70,000.00                      |
| 25       | SS-10      | Replace Manhole Frame and Cover w/36" Casting                                     | 15    | EA       | \$3,000.00                 | \$45,000.00                | \$2,700.00                 | \$40,500.00                      |
| 26       | SS-10      | Manholes Reconstructed to Grade   | 75    | VF       | \$100.00                   | \$7,500.00                 | \$550.00                   | \$41,250.00                      |
| 27       | SS-11      | Lateral Sewer Dye Tested  | 230   | EA       | \$150.00                   | \$34,500.00                | \$50.00                    | \$11,500.00                      |
| 28       | SS-12      | 36" Cured in Place (CIPP)(15 mm Median Thickness)                                 | 3,760 |          | \$180.00                   | \$676,800.00               | \$142.00                   | \$533,920.00                     |
| 29       | SS-12      | 36" Cured in Place (CIPP)(16.5 mm Median Thickness)                               | 2,752 |          | \$200.00                   | \$550,400.00               | \$140.00                   | \$385,280.00                     |
| 30       |            | 36" Cured in Place (CIPP)(22.5 mm Median Thickness)                               | 1,810 |          | \$380.00                   | \$687,800.00               | \$170.00                   | \$307,700.00                     |
| 31       |            | 42" Cured in Place (CIPP)(16.5 mm Median Thickness)                               | 1,611 | LF       | \$280.00                   | \$451,080.00               | \$158.00                   | \$254,538.00                     |
| 32       |            | Lateral Sewers Re-established   | 230   |          | \$250.00                   | \$57,500.00                | \$100.00                   | \$23,000.00                      |
| 33       |            | Trim Protruding Laterals  | 19    |          | \$250.00                   | \$4,750.00                 | \$260.00                   | \$4,940.00                       |
| 34       |            | Flexible Manhole Sealant Coating  | 76    |          | \$800.00                   | \$60,800.00                | \$400.00                   | \$30,400.00                      |
| 35       | SS-25      | Flexible Internal Mechanical Chimney Seal   | 15    | EA       | \$350.00                   | \$5,250.00                 | \$480.00                   | \$7,200.00                       |
|          |            | SUB-TOTAL   |       |          |                            | \$3,235,560.00             |                            | \$2,239,439.00                   |
| 36       | Spec       | Force Account (.15 X Sum of Items 1 thru 25)                                      | 1     | Lump Sum |                            | \$104,877.00               |                            | \$95,956.65                      |
|          |            | TOTAL PROJECT COSTS @ Items 1-25 Force Acct                                       |       |          |                            | \$3,340,437.00             |                            | \$2,335,395.65                   |
|          |            | Corrected Force Appt (1F V Compliance 1 through                                   | 4 1 0 |          |                            | \$40F 224 C2               |                            | #22F 04F 0F                      |
|          |            | Corrected Force Acct (.15 X Sum Items 1 thru 35)                                  | 1     | Lump Sum |                            | \$485,334.00               |                            | \$335,915.85                     |
|          |            | TOTAL PROJECT COSTS @ Items 1-35 Force Acct % DIFFERENCE FROM ENGINEER'S ESTIMATE |       |          |                            | \$3,720,894.00             |                            | <b>\$2,575,354.85</b><br>-30.09% |
|          |            | -   |       |          | Į.                         | N/A                        |                            |                                  |
|          |            | Bond Amount   |       |          |                            |                            | 10% TAB                    |                                  |
|          |            | Bonding Company   |       |          | Liberty M                  | utual Ins Co               |                            |                                  |
|          |            | Proposal Bond Amount Required   |       |          |                            | \$257,535.49               |                            |                                  |
|          |            | Contract Compliance No. (Page P-3C)   |       |          |                            |                            |                            | 31-1023518                       |
|          |            | Non-Collusion Affidavit Completed? (Page P-29)                                    |       |          |                            |                            |                            | Yes                              |
|          |            | Local Vendor? (Page P-4)  |       |          |                            |                            | Yes                        |                                  |
|          |            | Addendum Acknowledgement Completed? (Page P-4)(No                                 | ne)   |          |                            |                            |                            | N/A                              |
|          |            | Proposal Affidavit Completed? (Page P-35)   | -,    |          |                            |                            |                            | Yes                              |

1/5/2012 CIP650693 Bid Tab

BID OPENING DATE: FEBRUARY 7, 2007

| Ref.     | Item   |   |       |          | FNGINE                     | ER'S ESTIMATE              | Spiniello              | Const Co               |
|----------|--|---|-------|----------|----------------------------|----------------------------|------------------------|------------------------|
| No.      | No.  | Description   | Qty.  | Unit     | Price                      | Amount                     | Price                  | Amount                 |
| 1        | 202  | Manhole Removed                                       | 1     | EA       | \$500.00                   | \$500.00                   | \$1,500.00             | \$1,500.00             |
| 2        | 202  | Pipe Filled in Place                                  | 30    |          | \$10.00                    | \$300.00                   | \$100.00               | \$3,000.00             |
| 3        | 252  | Arterial Pavement Replacement, Type 1 (1441 Dr. A)    | 90    |          | \$250.00                   | \$22,500.00                | \$500.00               | \$45,000.00            |
| 4        | 252  | Driveway Pavement Replacement, Type IIIA (2160 Dr. A) | 30    |          | \$175.00                   | \$5,250.00                 | \$300.00               | \$9,000.00             |
| 5        | 252  | Driveway Pavement Replacement, Type IIIB (2160 Dr. A) | 2     |          | \$300.00                   | \$5,250.00                 | \$500.00               | \$9,000.00             |
|          | 252  | Driveway Pavement Replacement, Type IIIC (2160 Dr. A) | 2     |          | \$300.00                   | \$80.00                    | \$600.00               |                        |
| 6        |  | Temporary Pavement Replacement                        |       |          |                            | ·                          |                        | \$1,200.00             |
| 7        | 253  | Pavement Planing                                      | 2,100 |          | \$20.00                    | \$42,000.00                | \$25.00                | \$52,500.00            |
| 8        | 254  | <u> </u>  | 200   |          | \$3.00                     | \$600.00                   | \$50.00                | \$10,000.00            |
| 9        | 604  | Catch Basin, AA-S133                                  | 2     |          | \$1,500.00                 | \$3,000.00                 | \$2,500.00             | \$5,000.00             |
| 10       | 604  | Manhole, Type A                                       | 2     |          | \$2,500.00                 | \$5,000.00                 | \$2,500.00             | \$5,000.00             |
| 11       | 614  | Maintaining Traffic                                   | 1     | Lump Sum | \$150,000.00               | \$150,000.00               | \$110,000.00           | \$110,000.00           |
| 12       | 624  | Mobilization  | 1     | Lump Sum | \$20,000.00                | \$20,000.00                | \$190,000.00           | \$190,000.00           |
| 13       | 901<br>SS-2  | Storm Sewer Pipe, C900 Water Tight Pipe               | 150   |          | \$45.00                    | \$6,750.00                 | \$150.00               | \$22,500.00            |
| 14<br>15 |  | Repair Water Service Repair Electric Service          | 2     |          | \$1,000.00<br>\$1,000.00   | \$2,000.00<br>\$2,000.00   | \$2,000.00<br>\$1.00   | \$4,000.00<br>\$2.00   |
| 16       |  | Repair Telephone Service                              | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                 | \$2.00                 |
| 17       |  | Repair Gas Service                                    | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                 | \$2.00                 |
| 18       |  | Repair Sewer Service                                  | 2     |          | \$1,000.00                 | \$2,000.00                 | \$1.00                 | \$2.00                 |
|          |  | Repair Television Cable Service                       | 2     |          |                            |                            |                        |                        |
| 19<br>20 |  | By-pass Pumping                                       | 1     | Lump Sum | \$1,000.00<br>\$200,000.00 | \$2,000.00<br>\$200,000.00 | \$1.00<br>\$194,000.00 | \$2.00<br>\$194,000.00 |
| 21       |  | Cementitious Grouting                                 | 200   |          | \$200,000.00               | \$200,000.00               | \$194,000.00           | \$40,000.00            |
| 22       |  | Internal Host Pipe Repair                             | 200   | 1        | \$50.00                    | \$10,000.00                | \$150.00               | \$30,000.00            |
| 23       |  | Cementitious Manhole Rehabilitation                   | 540   |          | \$200.00                   | \$108,000.00               | \$160.00               | \$86,400.00            |
| 24       |  | Replace Manhole Frame and Cover                       | 28    |          | \$2,200.00                 | \$61,600.00                | \$1,500.00             | \$42,000.00            |
| 25       |  | Replace Manhole Frame and Cover w/36" Casting         | 15    |          | \$3,000.00                 | \$45,000.00                | \$1,800.00             | \$27,000.00            |
| 26       |  | Manholes Reconstructed to Grade                       | 75    |          | \$100.00                   | \$7,500.00                 | \$1,500.00             | \$112,500.00           |
| 27       | SS-11  | Lateral Sewer Dye Tested                              | 230   | EA       | \$150.00                   | \$34,500.00                | \$100.00               | \$23,000.00            |
| 28       | SS-12  | 36" Cured in Place (CIPP)(15 mm Median Thickness)     | 3,760 | LF       | \$180.00                   | \$676,800.00               | \$150.00               | \$564,000.00           |
| 29       | SS-12  | 36" Cured in Place (CIPP)(16.5 mm Median Thickness)   | 2,752 | LF       | \$200.00                   | \$550,400.00               | \$200.00               | \$550,400.00           |
| 30       | SS-12  | 36" Cured in Place (CIPP)(22.5 mm Median Thickness)   | 1,810 |          | \$380.00                   | \$687,800.00               | \$350.00               | \$633,500.00           |
| 31       |  | 42" Cured in Place (CIPP)(16.5 mm Median Thickness)   | 1,611 | LF       | \$280.00                   | \$451,080.00               | \$360.00               | \$579,960.00           |
| 32       |  | Lateral Sewers Re-established                         | 230   |          | \$250.00                   | \$57,500.00                | \$50.00                | \$11,500.00            |
| 33       |  | Trim Protruding Laterals                              | 19    |          | \$250.00                   | \$4,750.00                 | \$150.00               | \$2,850.00             |
| 34       |  | Flexible Manhole Sealant Coating                      | 76    |          | \$800.00                   | \$60,800.00                | \$300.00               | \$22,800.00            |
| 35       | SS-25  | Flexible Internal Mechanical Chimney Seal             | 15    | EA       | \$350.00                   | \$5,250.00                 | \$300.00               | \$4,500.00             |
|          |  | SUB-TOTAL   |       |          |                            | \$3,235,560.00             |                        | \$3,384,120.00         |
| 36       | Spec   | Force Account (.15 X Sum of Items 1 thru 25)          | 1     | Lump Sum |                            | \$104,877.00               |                        | \$131,866.50           |
|          |  | TOTAL PROJECT COSTS @ Items 1-25 Force Acct           |       |          |                            | \$3,340,437.00             |                        | \$3,515,986.50         |
|          |  | Consists de Force Anat / 15 V Cum Itama 1 45 25)      |       | 1 C .    |                            | #40E 224 22                |                        | #F07 /10 00            |
|          |  | Corrected Force Acct (.15 X Sum Items 1 thru 35)      | 1     | Lump Sum |                            | \$485,334.00               |                        | \$507,618.00           |
|          |  | TOTAL PROJECT COSTS @ Items 1-35 Force Acct           |       |          |                            | \$3,720,894.00<br>N/A      |                        | \$3,891,738.00         |
|          |  | % DIFFERENCE FROM ENGINEER'S ESTIMATE                 |       |          |                            | IV/A                       |                        | 5.26%                  |
|          | Bond Amount Bonding Company  |   |       |          |                            |                            |                        | \$3,891,738.00         |
|          |  |   |       |          |                            |                            | Safeco Ins             | Co of Am               |
|          |  | Proposal Bond Amount Required                         | '     |          |                            |                            |                        | \$389,173.80           |
|          | Contract Compliance No. (Page P-3C) Non-Collusion Affidavit Completed? (Page P-29) Local Vendor? (Page P-4) Addendum Acknowledgement Completed? (Page P-4)(Nor |   |       |          |                            |                            | Application Submitt    |                        |
|          |  |   |       |          |                            |                            |                        | Yes                    |
|          |  |   |       |          |                            |                            |                        | No                     |
|          |  |   | ne)   |          |                            |                            |                        | N/A                    |
|          | Proposal Affidavit Completed? (Page P-35)  |   |       |          |                            |                            |                        | Yes                    |

1/5/2012 CIP650693 Bid Tab